
Messung Auswertung
Nr. t1 in s t2 in s VI in 10·sm/s v2 in 10·sm/s r in 10·7m Q in 10.19As Qc in 10.19As

21 32,0 1v,1 1, ]'1 7, -« s. es 2,41 --1, 7-1
22 32/ , ...{S",2 3(21 +, 02. S""p 2, -ft'} -4, "11(
23 27,3 -17-, ! 3,Klt S(~1 6, o '-I 1,-17- ..-1(1'2.
24 JO,.7 11,;'7 J,S-Z 61J~ 1,-' 1/ 2/-{() -1, '16-
25 1,1 J1,V --1-1, 91 2(/~- -tO,'1 S; so 6-, 2J
26 gel) lrt,l '14,1.> 2,Sj --1tJ,I-1 S-,,~ s, IJ(
27 11,! 7-,4 g,~'-t --1y( Ir/( 11, 27- ~_lI.~b I h (J!
28 3'1, V -15,4 2, t-1-.- p.f, gt s,» 7- --t 1R . --!" 1

, ,'"- ., .' '!~:'

29 J{;, t' 11,()
' ..~. ft'~~ \'\ . .'~ '1-6 <-2, ~2. ~ s, 17 2, ---1~1 '

30 Jfth 2,'1(
,/ ~ -f,S-!!-1J, Cf f;tr.l7 S,--1J --1, g 6

31 t,4 -1-1, ] 20, ql 1, /fit --1tt, -(() -4Si I, ~v".JO
32 '-f,q -4~,l 21, f7 4() ,ft' -I~,31 -4/, es 4~rZ
33 -e.s -1-1, ] 5", t 7- q~1lt4 '1, ] V- lt, o 7- 1,S-1
34 -fl, l .42{l s,rc !,1y l,ft( 1, q1 s. ~S-
35 -11 ( -1 11, J 6, z» ~I If~ 7- t''7tJ 4,lf Z 1,R~
36 44, ':/ -a, J f( '2.' c. b"l; ~J]4 4-(Z() 1,6.f
37 -a, "3 .4~,2. 6( :17 {,JI f,4l( 4,~t.; J, s»
38 4~, g 16,J 1-,4( tl.J~ Y',2r Cf,-tLt 1,t]
39 11, , 2' , f lt,9v Lt(~O {, rs: L-,2f.t //, e:
40 2f,.1 lj, , y, Zs 7, s: I- f, ]( -1" P 2. ~ry

~:
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